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Lessenl: T \| i

—= S—Z
- L patterns --

Pattern are everywhere . some patterns grow .

Growing patterns grow and get bigger or smaller.

1) Notice and complete the pattern :
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c)‘.- AA..-- .........
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*' 2) Draw a picture to sh;w wha.t comes next in the pattern: *
K :
; 0 '
B :
1 009 .
:0000 !
: 1 2 3 3 . 6 5 . A, :
* c) *
A . 3
: !
A
* ‘ '.
A %
A A
‘ d) | *
4 LT §
A T A
* 3 6 1 *
2 s :
R LR R RN SRR RRRNY

Scanned with CamScanner



A

PARAA ARy,

Write number to continue the pattern :

it i i i

aj-3,1,6,3 ,1,6,3,1,6, ey vuees g onees
b) A, B,AA,B,AAA,B,

¢) 5,10 ,15,20, covse jorseeennee

d)3,6,9, cenee g sesnnenens

€)1,3,5, cemee s sneenaes

f) 10,20,30, ccercereen  sseseens

4 12 [ S —

h) 50,40,

i) 10,8,6,

N
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Lesson2 ,3,4: PR s N i

Pictograph =&

A pie shop sells a range of different pies, Here are the sales figures for the
number of pies sold for each day in a week.

represents  Each ; represents 2

—_

Fach &=

Monday

0
(0
M

Tuesday

A
A
A
A
A
A
A
A
A
%
A
%
A
‘ Wednesday
A
A
A
A
A
A
A
%
A
A
s
A
A
A
A

Thursday

Friday

000000
000000

0™
000
0

Saturday

1) How many pies were sold on Thursday?
2) Which day were the most pies sold?
How many pies were sold onthat day? ____
3) How many more pies were sold on Tuesday than Wednesday? ____
4) There v;rere more pies sold on the last two days than tﬁe first four

days. True or false?

5) How many pies were sold in total that week?
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Bar graph

Sports | soccer | Basket | tennis hockey | baseball
ball

People

Represent the following table on the graph:

Food Banana | Pepsi| Tomato | pasta| Candy
Number / 1 3 5 2
8

g

6

5

4

3

2

1

0|Banana | Pepsi | Tomato pasta |candy
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4 Lineplots 4
. Antoine surveyed Movies Per Month ‘
‘ his friends to find 25k | Coo | Goe | ivon BERD *
out how often they ® ¢ 0 . 8 v i
‘ went to a movie Ricalfdﬂ Nizna Be;tty Ta;na ‘
b einerenns | e | Rty | e aaeme | HEH0E &
* Da;id Judie | Drew | Lauren ||{|} ;I.-.}- *
1 1 3
* Make a Line Plot :
‘ MOVIES Make a line plot for the survey results.
‘ Step 1 Draw and label a number line. Include all values *
‘ of the data. Give it a title that describes the data. * |
&
; = b
0 4,
A 1
‘ S PIRESIRNS - MU e T o e S | *
lovies per Month |
* § These 3 Xs represent * '
% the 3 friends that said
* X 2 movies per months ‘ ‘
. B |
! o I A B 4
4 e s
2 ;
4 &
: 7 i
FAAAA A Y
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Measuring
length

Estimate the length

Centimeters (cm ): used to measure the short length.

Example : the length of pen , ruler, book and bag .

i
{
:
|

|

i

|

!

i
Meters ( m) : used to measure the long length. :
Example : the length of the door , the height of the buildings ’
and the width of the road. ‘
1) Estimate the length of the following : - :
i

i

i

t

i

i

f

I

{

!

i

}

i

{

1.

S

ﬁll?iilililililil‘ilj [IIITITITITJJ

about centimeters about centimeters

4, L 2

ﬁhT.TniJ.T.L_T.T.'l".‘l'.'f.Il'f.f;i

about centimeters

TN S T T La e e L G et g J gl
1 3 ] -3 [ B = [} ] 10 11 12 13 14 18 16
Il1|i||l|lllll|l|l|l|lll|lIIllllll'

about centimeters

PAAAA ARt
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2) Choose the estimated length : -
a) The width of road is ........ m (1,6,600)
b) The length of my father caris ....... M (5,50,500)
c) The length of piece cloth for my mother ..... m

(3,40,35)

ﬁ

3)Complete :

o

%

|

4

4

%

S

£

4

3

%

3

......... 4
g)Half meter = ....... Cm :
5)complete: 200cm=2m *
i

3

S

3

4

3

4

8

4

4

a)600cm=.... m c) 300cm=...M
b)100cm =...... d 500cm=..... m

6 ) arrange in an ascending order :
a)2m,6m ,3m, 8m.

b)20cm,13cm ,36 cm ,15cm

lllllllll § "EmasEE § mEEEEmEn y "rranmmnn
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Date i Yoisie\ i,
Lesson 8,9,10: ]

- Millimeter

Millimeter ( mm): used to measure the very short Iepgths.
Example : the length of insect , the thickness of nail .

Choose the suitable measurement unit :

4
|
1
|
i
{
|
|

a) The thickness of a nail measuring with ....
(mm,cm,m)

ﬁ_--'
ce

i
A
%
A
A
A
A
A
4
4
:
4
3
: b) The length of the book <M measuring with ....
4
A
1
4
A
4
3
4
A
'
A
4
A
A
'

(mm,cm,m)

c) The length of an ant 3 ® measuring with ...
(mm,cm,m)

d) The thickness of a book measuring with ....
' - | (mm,cm m)
e) My father high measuring with .... (mm,cm,m)

f) The length of a bottle —- measuring with ....
(mm,cm,m)
g) The height of my home measuring with ... (mm,cm,m)

b
i
i
i
i
d
4
|
4
A
i
i
l
i
I
i
i
i
}
A
i
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Complete complete: 20 Mm =2 Cm
A JCm=..... Mm a- 60Mm=..... cm
b- 8Cm=....... Mm b- 50 Mm = ..... cm
c- 4Cm=.... Mm C- 90Mm=....cm
d 9Cm=....... Mm d 40 Mm = cm
e 2Cm=....... Mm e- 30Mm=....cm
f 7CM=....... Mm

Arrange in an ascending order :

a- 2Cm,16Cm ,30Cm, 18 Cm

b- 20 Mm,13cm ,36 cm , 50 Mm

................................ |
Put[<,>,=]:
a- 400CM [ J5M
b- somMmm (] 5¢m
- s5eMm [ ] somm
d- 9m D 900 CM

s L 4 4 2 £ £ L L 2 2 2 2 2L L 2 T 2 XL T 2 L L L £ & & £ g

5
4
4
4
&
4
*
|
‘ |
3
'
&
A
&
4
4
%

SRR YRR YRR YR Y
!

Scanned with CamScanner



NYYYYREEE R AR R ALY

A
A
A
A
A
%
A
A
A
A
A
A
A
A
A
A
A
A
A
A
A
A
§
%

— ——  — o —— —— R — B — D — i — P i — i~ — i — i il —iaii il —ilih i i i i A R B - -

AAAARA AR Y

Scanned with CamScanner



PARAR AR

i
: lesson 11,12 S ‘
' = A
: Thousands 2
4
: (1) Write how many thousands: ] :
4 %
A 4
: :
‘ a) ...2... thousands = 2000 *
;
A &
2 b) : HERHET L thousand = ... :
: :
A &
: A
1 ;
1 )
§  HEY W L Thousands = ...... 4
& ¥
1 4
; 13 :
PAAAA A

e
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t# ,

rite nu bers: | - |
‘EZ)W te num J \1'
|
: A |
;
|
| |
- |
3 |
g 1.0 | |
i |
4 |
4 |
i |
] |
% » |
i |
|
A |
§ |
: o
$ |
i auE
1 |
1 L |
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(5) Complete?

\ 0) 8000 = ...... thousands - ..
y b) 5000 = ...... thousands /
/

4 A
¥ }
% 4
A 4
&
4 %
& i
A A
A 4
3
: :
A €) s =7 thousands -*\‘\ . I
: \ e : 1
A ‘
¥ 4
3 ’
8 4
A 4
3 %
* 4
A &
% «
3 2
A &
4 “
A 4
A 4

-
y d) ..... = 9 thousands /
y

\ e) 3000 = ........ thousands \\\\
/'/l
f) ... = 1 thousands

\ 9)9000+= ....thousands .
.

k) jeisre =3 Thousandi//

ﬁ#&#ﬁ#ﬁi#i#########*#
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‘Lesson: 13

Place value

1) Read the number, look at the underlined digit then
name the place:

‘ 5,432 \ l 7,892 \ L8,2§0J
(6492 ][ 3125J | 193J

() [ o

YYYITITIITIITIIIII

A

A 1
. 1
A i
A {
p ;
A |
A {
A i
: :
4 {
A i
§ !
4 {
$ {
4 {
4 i
% i
4 i
4 !
% !
4 !
4 I
% !
4 f
§ {
4 i
4 }
4 f

Scanned with CamScanner



o

> I N > I I I I SN I IS S I S T S S S S S SN SN S S S S > S S

#4#*4**&&4&&##4**%\#\43:
A

Lesson: 14 L

Ehe valui

(1) Circle the value of the blue digit: J

(200 20  2)

(500 5000 5)

(400 40 4000)
(8000 8 800)
(600 60  6000)

(900 90 9)

%
%
¥
%
3
4
%
3
&
&
&
&
“
A
&
3
3
%
&
&
%
5
4

EEEEEEEEEEEERESRERRE
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() Choose ’rhe correct answer'J

A a)The value of dlgl‘l‘ 4in12481s ... (4 ,40,4000)
% b) The value of digit 7 in 7254 is . (7000 ,7,70)
(20 ,200 ,2)

: ¢) The value of digit 2 in 3,652 iS .occres
* d) The value of digif 3in2,307 s ... (Hundred, 300, 300) .

4 ¢) The value of digif 5in9853is.... (50 ,9 ,tens) '
A f) The place value of digit 1in 5,341 is .......

(Ones, tens, hundreds)

g) The place value of digit 9in 6,196 is ... (90, ones, fens)

h) The place value of digit 5in 5,328 is ........
(thousands, 5000, 50)

|

|
A |
A |
A |
A |
% |
A ¢
A a
A ;
¢ :
3 |
A a
4 :
A |
A |
A '
A n
|

#&t##iﬁ#*ﬁ¥4ﬁﬁ4444#$#
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%
:
: {3) Write these numbers in word: ] .6 :
‘ A
:
: a)2, 146 ——s :
: -
:b)4 15 s :
: _—
:c)4 207 —> :
* g
: GRS N STV ) :
R T )
:f)3 O e :
-‘ .................................... H
: g) 2, 508 ——> :
; :
4 h) 7,231 4
* 19 ‘
4#*4&&4&*#4444**4&#&4*:
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Lesson: 16 ; T _
| Expanded
form

—

[4) Write in expanded form: ]

2 423=2000+ 400+ 20 + 3:

P g e SN, NN, J— foaiit ]
5,368 =t e T
8568=...+...+... Fomiinees

%
4
3
§
|
i
%
i
%
A
4
%
A
4
&
A
%
4
&
§
|
%
A

EEEEEE T T VY PPUUTIITY
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E) Write in standard form: ]

1) 7000+ 300 + 40 + 2 =

: S -

- 2) 6000+900+30+1=

4) 5000+200+10+9= ...

- B) 5000+400+4-= ...

21

4
&
|
%
%
i
$
|
|
3) 9000+ 500+ 60 +7 = | :
4
|
&
&
|
%
|
|
|
4
4
%
7
A

EEEEEEEEEEE RS R R R
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1) 7196 rreven 7916
2) 1025 .o 1000
3) 5701 vovevv 5721

4)9432.";“"".8532
5]8143."""““.8000-+100+40+3

6) 3000........... 1000
7) 5632 .o.cvuasenss 4563
8) 4520 ........... 2312 '

71 Arrange the following in ascending order:

a) 5294, 2765 , 1224 , 1562 |

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

---------------------------------------------------------------------------------------------------

c)1479 , 5874 , 3877 87155, 5 7569 |

.........................................................................................

AAAA Rl

>
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Date ... Sl s

En thousamfz

{1) Read the number, write the place value of the ]

Jh> >

Lesson: 16

blue digit :

a) 73,543 ———> ...

A
4
4
S
%
3
i
4
¥
4
4
A
A
#
&
%
=
%
4

44#444&4#4&&4#4#*?&*4
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2)Complete : ; | l
digit 7 in the number 72,681 1S wisiii, |

digit 5 in the number 12,352 I8 csaies
t 3inthe number 26,263 is .....

a) The place value of the
b) The place value of the

digi
¢) The place value of the . i
d) The place value of the digit 4in the number 14,790 s

e) The place value of the digit 9 in the number 2216,7’1!-:,'36 ITS
f) The place value of the digit 1in the number ,65 15743
g) The place value of the digit 4 in the number 14,3 I.S
h) The place value of the digit 2 in the number 23,.318 IS cures
i) The VALUE of the digit 5inthe number 21,562 15 ........

j) The VALUE of the digit 8 in the number 23,835 IS w..coeee

k) The VALUE of the digit 4 in the number 12,345 is ....... l
) The VALUE of the digit 2 in the number 23, 459 is .......

5
§
b
&
%
&
4
4
%
3
3
4
: m) The VALUE of the digit 5 in the number 52,321 s ....... - ‘
L
A
'
3
4
 ;
1
;
4
;
4
3
4

n) The VALUE of the digit 2 in the number 23,467 is ....... |
o) The VALUE of the digit 1in the number 15,320 s ......

p) The VALUE of the digit 9 in the number 19,352 - J—

q) The VALUE of the digit 6 in the number 21, 346 is .......

t) The VALUE of the digit 2 in the number 56,240 is ........

's) The place value of the digit 8 in the number 94,821 is
t) The place value of the digit 7 in the number 7,289 is ........
u) The place value of the digit 6 in the number 6,143 is

v) The place value of the digit 8 in the number 67,821 is
w)The VALUE of the digit 0 in the number 12, 305 is

.......
llllllllll

x) The VALUE of the digit 9 in the number 35, 967 is

-------

y) The VALUE of the digit 7 in the number 45, 723 is ......

PAARA A g a et

Scanned with CamScanner



I Y YYYYS YL IILIL

l 4
1: , i
: : 3)Arrange in a Descending order ' :
: : a) 24,382, 12733 | 23967 , 18,230 , 24,820. :
: N R .
l : b) 23,624, 23,530 , 23461, 23,370, 23,880 :
} * .................................................. *
: : c) 42,124 41,767 45,938 46,578 , 49, 387 :
: : a) 12,874, 25332, 13,145, 67,521, 43,256 . :
[ g e H
: :[4) Write these numbers in word: } :
: : C) £ T :
= 4
L B)B8,320eeeee
| : _
B 052,123 s :
: %
A BBBTL o et o S nesns :
3
: :
£#41*444##14ﬁ4$ﬁﬁ4$4&1ﬁ
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4 Lesson:16 ="
: - Hundred

4 thousands

R N SN

—

1] Write the following numbers in words:

a) 234,563

---------------------------------------------------------------------------------------------

b) 127,896

c) 451,234

%

§

4

%

4

%

%

&

£ |
|
4 |
* ............................................................................................. '
%

$

3

|

%

%

%

d) 142,178 I
............................................................................................... |
e) 251,289 -

i
f) 321,691 |
|
|
|
|

PARARA AR aaan it
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2)Write the following in standard form:

a) 100000+20000+3000+ 800 + 40 + 5 =

b)7000 + 40 + 400=

¢)2000 + 90 + 100 =

d)70000 + 6000 +100+90 +3 =

e)300000 + 2000 + 200 +10 =

f) 20000 + 800000 + 4000 + 200 +30 + 5=

3) Complete:

a) The place value of the digit 7 in the number 721,681 is
b) The place value of the digit 5 in the number 121,352 is
c) The place value of the digit 3 in the number 265,263 is
d) The place value of the digit 4 in the number 148,790 is
e) The place value of the digit 1in the number 826,136 is
f) The place value of the digit 4 in the number 514,365 is
g) The 'place value of the digit 2 in the number 623,318 is
h) The VALUE of the digit 5 in the number 821,562 is

i) The VALUE of the digit 8 in the number 923,835 is

tttttttttt

A

A

%

A

j) The VALUE of the digit 4 in the number 812,345 is ............. ;
%

§

l

R RS R R R SR RREY
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ing order - i
4)Arrange in an ascending j

0, 924
a) 324,382 , 212,733 623,967 718,23 820,

----------------------------

78 , 149, 387
45,938 , 746,575, 135,
c) 242,124 ,141,767,2 ....................................... I

-
llllllllllllllllllllllllll

643 ,256 .
e) 612,874, 625,332, 613,145, 667,521 ,

paaadbiitaaa eyl
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Date s Novivsa Nkt

Zﬂ

Arrays

Groups‘i

3 groups 0f4 =
A+4+4=
4x3=12

. o .

CE)

1)Count equal groups to find how many:

.. groups of ......

..... L WS, T

2
4
&
3
|
|
&
4
%
4
4
&
%
4
&
&
§
A
&
$
A
3
&
A

YT m
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2) Complete :

a) 3 group of §

b) 3 group of 4
T

....... ) QUG

C) 5 group of 2

&
4
:
:
* +
SR
;
&
:
4
;
&

3)Write a multiplication sentence :
a)7+7+7=... X ws

b)3+3+3+3=...X......

C) 6+6+6+646=...... X ...

e)5+5+5=... X.......

- I > > > > > > > W S > > > > > > B>

YL T mm
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4rowsof2=8 . 2rows of4=8

4x2=8 2x4=8

|
4
|
|
%
§
|
|
$
i
|
|
4
|
|
|
|
|
§
£
4x2=2x4 4
|
¥
|

EE R R R R R ERRRRREEY
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l

|
* .
4  1)Complete use the array -
%
4

a) . ' l.ll.l
[0

L £ £ & £ & 4L L 2 2 2 4

v MY 0 A ‘ L i T "
& R b A = e, = i S e ] el el ¥ " i A L~ == yAid i d i L
e o1 o L R S DERh gl ) A5 s g A U N PRy v prs il it Lttt e

a)7x5=...X7
b)3xd4=..X...
C)5 X2 covii X wiias

i

i

i

4

A

: _ .

* 3)Complete : <:}fj \\

A
d)2x..=9x2 Ei,ﬁ §

4 . t

4

%

¢4444444ﬁ:t¢444tt*5§
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g
.
i
i
A
#
i
i
A
A
A
i
A
A
i
A
A
A
i
A
A
4
A
4
A
3
A
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3
e
0

gomqomhwmu
m u H nm unn

4 X
4 X
4 X
4 X
4 X
4 X
4 X
4 X
4 X
4 X

IS

tl

ouoouoaaaof
KUXHA KX XX
o0ONGOULLNK

m uwnmw u uwuwnuwmn
NN N NN NN N
XX MK R K XX KK
500N U L wN =

{

gomﬂomawmw(;

Any number X0 =0

o et

Any number X 1 =
the same number

3 X B = 5+54+5

Or
33X B =

3+ 31 +.3)+3/+ 3

(0

010 010.0/0 010 0 o i
XXX RN XX X S
gnmﬂmu¢umw'

mmmmmmmmmm;;
XX X XXX XX XX
[ | IR R | ) { | [ | |

Il

34

FAAAAAARR AN
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Multiplying by 2
1)Draw a group or use an array to find :

a)2x9=

b)2x2=

C) 8x2=

|
|
35

&
3
%
4
&
&
&
&
4
$
&
&
&
&
4
%
§
&
&
“
%
&
4
:
S S S R EEEEEEEEEEEE R .

A
fi
4
A
A
A
A
A
A
A
4
A
A
A
A
A
A
A
A
A
A
A
A
A
A
A
4
A
A
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2)Complete:
(a) The number of

(b) The number of legs of 3 hens
gs of B hens =

"

legs of 2 hens = ... X ...

: - & x L

1
xX
]

(c) The number of le
(d) The number of legs of 8 hens |
(e) The number of legs of 9hens = ... X ... = |
Find the result: |

a)2 X 4= s

n
x
"

b)2 X 2= wireeeree
€) 2 X 6= cesuvrensns
d)2 X 7 = wverennes
€)2 X 9= s
f) 2 X 5= s
g)2 X 8= wrrrnrns
h)2 x 3=

i) Manal brought 6 bags of cooldes to each bag hes

|

9 cookies in it . how many coolkies wene there all togethe

lllllllllllllllllllllll

|
2
&
&
&
4
4
&
4
&
i
&
i
@
A
&
A

PR AR AN
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LARAL ATV TYTRTRNER
| : 1) Complete :
1
: 2X12= 2X 2= X 2=10
, 2X10=  [2X0= X 2=22
4 |
] 2X11= IR 8= X 2=4
:: 2 X 5= 2X 1= X 2=18
i xs= ox2=12 | X 2=24
3 Xi6= ox2=2 | X 2=6
2X 9= X2=20 | X 2=14
2X4= || Xx2=8 | X 2=0
2X 7= X2=16 |2X =24
E o
4
: 37
AR RS E R R R R RRY

- st T S o
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Multiplying by 3

]
i

1

4
1
4
i
1
1

1

]

3 x 10=
3 X 1ll=
3 x 12=

s = —-—L——___-—— J

I

A
i
% .
| 4
% 4
4 |
4 |
‘ .
* .
£
&
&
&
A l
|
& |
i |
| |
| i
4 i
* ]
i
: 4
‘ i
3
¥

PARAR AR g gt
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1)Complete:

b 4

(c) The Price of 3 pens = ...

(a) The Price of 2 pens = ... x ...
(b) The Price of 5 pens = ... x ...

(d) The Price of 7 pens = ... x ...
(e) The Price of 9 pens = ... x ..
(f) The Price of 8 pens = ... x ...

8 how many leaves are on 9 branches ?

f) The branches en & tree have leaves that grow In & group of

ERORERRANRARINEN AN

chapters he read in all ?

g) Al reads 3 boolks each hes § chapters how many

BRARRANRRERERLERERERRTIRRRRRRRRRR PRR AR LAY LA LT ]

RORIEAN NI NITINLAERRIREN
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‘ Find the result : l»i
A ) 36 = __ 16) 3x__ =15 :
: ) 53 = 17 %3 =3 :
4 ) 0 = 18) __x3 =0 '
: g o83 = Wk _ U :
A g 37 = N __xd =l
: g 33 = A _x3 =D 1
4 143 o= W I__ =

: g 93 = B)u_ =9 :J.
: o 38 = M _x3 =30 ;
A w3 = B I _ =18 |'
: 38 = % __x3 =6

§ /0 SRR/ ¢ Tt

: @331 = B __x3 =1

4 Wex3 = M _ =D |
: B39 = 30 _x3 =Mu E
3 ;
: m :
AAAAARAAA A
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4
&
&
g
4
%
i
2
3
i
3
&
3
4
4
&
A
4
"
3
&
&
|
|
&
i
3

EEEEEERERERS

<«
<N
-
<%
<=
-
-
<=
‘-

Date...... i Lo

\4x7-
x12-

The four times table

_U_._—”_._—”_A_—”__—”__—W
i
5
e [ e NG S AN R AN BRI K
@@@@@@

*‘**************‘*‘.*********

Multiplying by 4

Lesson:

Q.tthm - =
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SYYIIIINEELL I
* ' !
‘ Find the result : |
4
: 1) .4x___ = 12 16) 7)(4}(4 : ;___

= 40 : ) R—
* i foaron 8) 4x = 20
3) 4x5 = 4 e
‘ 4) 4x =4 19) &% e
* ) o = 728 20) 4x___ =0
* el ; 21) ___x4 = 24
6) 9x4 - , o
A 7) 4x__ =16 z; ;_;.x >
=8 —_—
: 3 :ﬁi -0 24) 3x4 = __
& 10) 4x6 = __ 25) 4x__ = 40
11) 4x__ =32 6] L. T 1B
: 12) x4 =20 27) 4Xx___ = 36
13) 4x7 = 28) __ x4 =12
* 14) 4x__ =24 29) 6x4 = __
z 15) 4x4 = ___ 30 4x__ = 8
% Alireads & books each book hes § chepters how many chapter duy
* he reed bn oll ? FRS——
‘ & $096C02
4
A
A
4
A
i i
R VYT YYNRNIL
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%

: Multiplying by 5

&

: _ _ _
b | N fﬁ;aﬁ |

|
,‘!""""L li-._ _a' 1" "
b L
N .] —_ "‘l i
= -—v'. —{I:I- e _,_.;r i-!- T— -

Times Table

I’
f

43

AR

%
A
&
4
&
4
%
%
*
3
=
b
4
A
}
b
3
i
&
3
&
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A __ ’
| .

* " Multipl?czttion of 5 '

: 5x7= ]”_’H

4 PEE e—et

4 5x10= |

: T

: (5x6- | [5x1= |
: EISEN
I —
* [5 X5= ] j
: 5x7 = } 4
* rS X8 = J :
4 (5x3= | 4
A |
4 there are 3 hands each hand has 5 fingers how many finges
: Dﬁ@g@ﬁﬂm@f? nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn j
: 1
: 44 "I
YRR R RV YY YLl
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Lesson: Multiplying by 6

|
&
f
:
4 The six times table

&
“
4
%
|
%
&
&
&
:
6x3= )Qﬁ)@: :
F e A
;
%
#
A
2
3
=
7
&
3

§$44:¢$4&;;&&4*;4¢444*
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16) 5x6 o

17) 0x6 37) ___x6
18) 6x7 38)..__-xb >4
39) 6x 60

i
|
4  Find the resulk: _§
& ) KB =236
b e HEacg
% 3) 6x0 = L 23) 6X -
i 24) x6 = 18
* 4) 9x6 = 25 X6 = 0
I RTIEE f
& 7) 6x10 = _ 27) 6 ~ :g
fi 8) 1x6 = — =S 6 _ 12
9) 6x8 = ___ 29) >
‘ 10) 6x6 = _ 30) 6x e
& 11) 2x6 = _— 31) _x6 - -
| 12) 6x9 = i S ) 24
4 13) 4x6 = ___ 33) %6 j 8
14) 10x6 = ____ 34) 6Xx = S
4 15) 6x3 = - PR Dl g
I 36) 6 = 12

19) 6x6
40) 6Xx_____ 18

20) 8x6

Wﬁ&lw Wﬂd@@ WM@Q ﬁ[lﬂ)@v [ﬁiW@ ﬂlﬁ Eﬁ ? L R

&

4

&

4

&

:

4 Ahmed has 6 filends each friend have's video games . how '

4 |

: |
|

4 |

: l

4

Y YN YYYYY LI

Scanned with CamScanner



—

LAAR AR R A 00000040
Multiplying by 7

The seven "'I'imes table

%
4
A
&

t
k
h
l
]
s
\
;
\
k

A
3
A
A
4
A
A
A
A
&
;
A
-
&
&
&
&
A
&

:
‘ 47
Y YRR TRV YYYY
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:*44*4&4;4 ;
| x7 = 49
* 1) 7x6 = — ;;; ;;:-—-— = 28 |
* 2) 10x7 = — 23) TR = 63 |
3) 4x7 = — 4y X7 =2
‘ 4 9x7 = — )5) X7 = 35 3
5) 7x3 = —— % =
‘ 26) —— 7 7
6) 7x7 = — 7) TX__ = 20
* 7} 2X7 F e 28) Tx__ ° 28
* B Gy = e 29) X7 = 56
) s = = 42
* 20) 2:? = 32; 7’(-—;'; - 63
* 1M Ixl = 32) — - 5§
‘ 12) 7x10 = ___ :3) =
13) S5x7 — el . 24} ;—;—:—_— . 5
* 14) 3x7 = ___ - 4
15) 7x6 = 35) X7
4 16; 7:9 . — 36) 7x___ = 56
3 ) T5E & 5 37) ___x7 =0
‘ 18) 7x0 = : A8 .. XT =18
19) 7x7 = ___ 39) 7x = 49
) -
: 20) 7x8 = ___ 40) 7x___ = 21
: Mmg@m?ﬁrﬁ@m@s@@@mﬂﬁs@@@hgm@w@m@n@m
A ShCYeCR e Yal [ ———
&
B
i
i
|
.
: 48
EREEEEE R EEERFTFREL
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Multiplying by 8

@ 3

A

%

A

4

A

A

pe—— L 4

8 X0 = ___ ., 4

T

L= é

8 x 2 = s ‘

8 x 3 = L ‘

8 x 4 = :
8 X B = ‘

8 ¥ 6 = ‘

8 ‘3 7 = *

8 XX 8 = *

8 X 9 = ‘

8 St %

X 10 = ‘

8 x 11 = 4

@ " —) |

4

4

A

R

%

"
i
v |
i
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Find the result &

8 x 2
1 - = PARPTE
2 e - 8¢
2) 8x5 :—8—-—-' 18) ____x8 = 43
R R
5) ;?:?10 B 20] 7x8 b S
6) x8 =0 2 BR— N

2 g—— . a8 22) ___x8 =
8) x8 =72 B T
9) 8x8 C R ] B R
10) 8x4 = 25) 8x___ = 56
11) 2x8 = ____ 26) 8x4 = 8
12) 8x___ = 56 27} 9x8 T .
13) __ x8 = 16 28) 6x8 = =

14) 8x9 = ___ 29) 8x____ = 40

15) __ x8 = 40 30) 8x___ = 64

There are 8 lining @ street In each tree there are 6
birds hew many birds there are fn all ?

..........................

|
|
|
|
|
|
|
|
|
l
I
I
|
|
i
1
i
i
i
1
i
1
1

&
|
i
4
A
it
&
&
4
4
&
4
4
&
&
f
f
4
f
&

AR LE LT Y YV P PTRNTT
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i
E Multiplying by 9

9X0
9 X1
9 X2
X3
9X4
¥ X5
9X6
9 X7
9 X8
9X9

51

[l

9X10 =

* :
&
i
|
i
&
&
&
#
I %
A
4
4
&
|
3
4
4
4
%

AR 041
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! |
%  Find the result : 7'|
= 27 — =

! 3 ji? = 17) x93 =8 g
A 3 x9 = %0 1g) 9x4 = _ o
A 4) xo =18 B ¥ S0 |
4 5) Gy =5 20) 9x6 = :
: § 160 o) oxld = .
: 7) 9x6 = 22) X9 =9 ‘
& g _x9 =63 23) 9x__ =T |
* 9) ;_x—g = 24}, X8 =& '
10) 0x9 = 25) 9%__ - 63 |
‘ 11) 5x9 = 26) __x9 =36 '
4 12) 9x__ =36 27) 9x9 = :
13) x99 =72 28) 8x9 = '
14) 9x__ =81 29) __x9 =90 '
15 x9 =127 30) 9x__ = 81 l.
4 |
H |
: (Multiplying by 0 and 1 k | i
* Any number by 1 = the same number 4
; |
| _ 1
Any number by 0=0 4

§ y 1
: sz ;
PAR AR !
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Complete :

a)ixd=.............
b)0x8 =............
c)x1 =............
d)7x0 =
e)8x1=........
f)5x1=..........
gex0=.......
h)0x0=.........
1x0=........
3% 1®
Multiplying by 10 -
10X0 =
10x1 =
10x2 =
10Xx3 =
10Xx4 =
10x5 =
10X6 =
10X7 =
10%8 =7
10x9 =
10%10=

I TR IrYYY

&
i
&
&
&
%
&
3
3
&
&
&
4
4
3
4
#
3
%
&
o
4
3
4
3
=
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Complete :

d)7x10 = .......
e)....x 10 =80
f) ... x10 =50

| g [ I—
K)....x10 = 70
) 2x10=......

%
3
§
%
§
&
A
3
4
|
%
i
B
&
§
: i) 2X .= 20
4
3
|
&
i
i
3
S
3
i
%
3
7

AR RARR 0000000
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Date i\ sl i

Lesson:

ik

Measuring

time

-
Look at each of the clocks below . Determine time on the clock
and write the digital time below . remember that each hour
number represents a group of 5 minutes .

{(011 T 1: " £y 12
\ s 10\/,2‘

4
d
%
A
%
A
A
4
2
A
4
A
$
%
7l\j 375 !
RL8 2 R A
%
3
d
%
4
)
4
4
%
b
A
A
A
3

|
f
[

YN LIIY Y
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Draw the minute hand on the analog clock. %

Round One: Round Two:

i
A
|
|
A
&
&
i
i
4
i
4
A
i
4
A
3
%
A
&
i
4
&
&
&
4
A

AR
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Draw the minute hand to shO\}v the time.

T W R D RS D S S S R I RS SR> T RS > S R S RS S B S B RS S SR> R >

YN rTITYY
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Lesson: :

Z pivision
__// |

: DiViSioH |

is an operation with tW0 numbers .
one numbers tells you how many things youy

have . the other tells you how many equal

. groups to form

Todivide means to separate a number into equals

groups to find the number of groups or the number in

each group .

&2 olel—3
10 L™ 5o 2

A
A
A
A
A
A
A
A
A
A
4
A
%
&
A
£
:
4
A
A
A
%
A
A
f
A
A
A
4

RARAA ARt

Scanned with CamScanner



PARAA AN

E‘haring Between "I‘hree“ "

_______________________________

____________________________________

— e — e

§
§
g
§
§
|
:
e e e e ;
&
%
%
&
|

ettt TE S L | SR S e —m——— T Y m———

Complete :
32+8=...... 27+3=.....

18+6= ... 10+2=......
48+ 6= ...... - 40+5=......

-
T YYRVRN RN YRVRRYRYY
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Lesson :

Relate multiplication

to division

———

1) Write the related facts for the set of numbers :
a)2,5,10 b)3,2,6 c) 4,520

cccccccccccccccc

oooooooo
-------------------

..............
------------------------------------

-------------------------------------

2) Complete the related fact:
[ ' £ B X =30 1 coivorns Xx9=27

28 +....=4 30+-6=.... e+ 9= 3

28 585 g 30+-5=.... 27 = ... =9

4

{

|

i

&

&

&

i

G

4

&

&

&

& B
£ _
4 D)3,7,21 e)3,8,24 ) 6,6,36
i

&

3

G

|

A

B

|

i

i

£

$

a

&

R E R R EEE YRR L
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t 3) Complete the equation
'k a) 4 X weeeees = 28 28+4=...
F b)4X.... =36 36 + 4=...
¢) 6 X e = 36 36+ 6=...
d)8 X oo = 40 40 + 8 =...
e)...X5 =15 e =325
f) 4% =24 24 + .=
g) 5 X v = 20 20 + 5 =...

1. There are 16 fish that need to be placed in 4 bowls, Each bow! must hold the same
number of fish. How many ish should be put into each bowl? Draw a picture in the
bowls below to solve the problem,

61

PR 1y

&
=
&
4
&
4
i
3
4
A
&
&
#
4
i
%
7
|
4
&
|
4
4
&
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oranges that need-to be divideqd qual,
ts below to solve the problem,

YYRRRRL

ft baskets. H
ictureint

. e has 20
2. Sameh is preparing g he baske

between 5 baskets. Draw a p

share equally between 6 students. She must place the

3, The teacher has 36 crayons to
n the cups below to solve the problem,

crayons in the cups below. Draw a picture i

3
)

3

(A

W0l
(XXX
XX

()
)

*

OO
()
)
X

)

“*
#*
.,

o
4:0
4.4
‘0 4
X
+2
0

Tad

%)

+

o

%
QX :’
o
o

&
A

2e¥,

*
et

L)

)
W)
‘.

)
54

-
-
.

-
0%
..

N
>

>
-
-
>
>

%
)
56
L)
"
o0

&)
L)

2
#’0’

L)
"Q
et

+

.0.0 .'l
‘. ..
o

\/
4
o%d,

7
..
5

0
)

4
¥

0
’.

..

62
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GHPLLERSE l?escn'be each of these arrays using one multiplication equation and one
division equation.

QOO0

9,000
0000

#

%

&

2

4

%

:

QOO0 :
e _ H
0009 gy 4
OOO00 . Sl :
3

&

&

&

4

%

%

H

%

4

&

H

4

3

&

09000
00000

63

EEEREERNERTRNRERRE
:
]
:
I

FAAA A0 000041

—
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l
]
l |esson :
]

Polygons

A polYEON :is a closed plane figure of 3 or more line segments

Polygon can have a different number of side and angles .

Date .ueee \ seree\

prmm—

triangle

3 sides
3 vertices

Triangle quadrilateral pentagon Hexagon
3 sides 4 sides 5 sides 6 sides
3 angles 4 angles 5 angles

T

rectangle

4 sides
4vertices

4 sides
4 vertices

—
4 sides
4 vertices

rhombus
.

4 sides

1 vertices

65

L

A
i
3
i
4
4
%
3
3
3
:

6 angles

X
A
A
s
A
A
4
%
4
$
4

4

4

3

|

EEESEREEEEEERRERREREY
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4

YERRRRE

Quadrilaterals are named by

their angles.

their sides and

ﬂ Describe quadrilaterals

quadrilateral
_____sides

_angles

trapezium

at least _

VLA
2

C]

lengths of sides could be the same

b e

rectangle
pairs of opposite
sides that are parallel

pairs of sides that
are of equal length

right angles

square

______ pairs of opposite
sides that are parallel
_____sides that are of
equal length
_____right angles

;44###1!&4‘3

-! ERROR Alery

Some quadril
ate
cannot be chas-m[fal
a trapezium, recta ]
square, or 'homb “glg.

pair of opposite sides that are parallelw

rhombus
pairs of Opposite
sides that are paral|g|

SidES that are Of
equal length

Circle all the words that describe the quadrilateral.

u j 0

4

rectangle
rhombus
square

trapezium

rhombus
quadrilateral

square

rectangle

66

rectangle
rhombus

trapezium

quadrilateral

AAAAAA A 40400
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/ . __\'_\ L______,_ \ == *
rectangle rectangle quadrilateral ‘
trapezium rhombus square *
quadrilateral trapezium rectangle *
rhombus square rhombus *
Circle all the words that describe the quadrilateral. *
d l_‘ J
: 2 %
C - *
square square ‘
@ rectangle rectangle *
rhombus rhombus *
trapezium trapezium trapezium ‘
Use the quadrilaterals below for 4-6, :
EVoACRORT A
4. Which quadrilaterals 5. Which quadrilaterals 6. Which quadrilaterals ‘
appear to have no right appear to have 4 right appear to have 4 sides ‘
angles? angles? of equal length?
s 67 *
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YITTILLLE

lesson :

——

Cristina has a garden th
below. Each unit square represents
What is the area of her garden?

n,l One Wau count unit squares.

Count the number of unit squares in all.
There are unit squares.

So, the area is square meters.

£ Other Ways

—

TYERELEYYY

The aread

at is shaped like the rectangle
] square meter.

() Use repeated addition.

unit squares

Count the number of rows. Count the
number of unit squares in each row.

—____ unit squares

—

—____unitsquares

rows of = §

Write an addition equation.

So, the area is square meters.

© Use multiplication.

Count the number of rows. Count the
number of unit squares in each row.

rows of =0

This rectangle is like an array. How do you find
the total number of squares in an array?

Write a multiplication equation,

So, the area s square meters.

68

e ——

unit squares in each row

rows

g*}¢¢44¢&4444;#¢44**
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1) Determine the areg .

b) Total area=....... square units
)
Total area=......... square units

.
B
“
W
5
b
2
A
=
-
‘
A
A
"
A
%
%
“
4
%
%
4
%
B
4
4
4
%

YRRV RV YRV YRYYRRY,

IR e i 2 P00
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b lesson: < — =
Distribution property <

x6X5=(6X2)+(6x3)=12+ 18 =30

pirections: Break apart the arrays and, using the distributive property, write an
equation to show your work.

X =
‘0-O
9

®x =
0-O
x B

———

"W = .
0-O
6

—_—

71

&
&
&
&
3
i
|
4
4
3
A
&
4
3
A
4
&
&
&
:
AR 410
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Chapter 5

%
|
A
3
A
4
%
3
|
|
3
|
4
4
&
&
3
#
%
%
|
&
4
4

EE SRS EEEEREERERERRE

SRS — |
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side of an object .

Perimeter : is the distance around the out

-

1) calculate the perimeter :

d)

=3 T T B E e

= 5. 7 S ) e i
The |©° | S1E =SS

. ='-; - A! A A

b)

Theperimeter-.... The perimeter=...

r 2 2 £ £ 2 &£ £ £ 2 £ L L L L. 2 2 £ 2 2 £ 2 2 2 L L L L T L -

|
|
|
|
|
1
I
|
|
|
|
|
!
i
1
|
|
l
|
|
l
|
|
1

FARAARAAARRA Y
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lengths

4cm

A

&

;

A

A

3 2

i 3cm

4

A

B

S

&

3

| 4cm
The perimeter-3em +4 ¢m +3 cm + 4 cm=14cm

1) Find the perimeter of each figure:
1.

3cm

2. 2 cm 3.

Sam

10 ¢cm

6cm

-

3cem

wee renea . .
2 tesetearras st gy
LT LT TP TP
( ) Arannas P P P T T PR TP T TP SRR T AR T VR SR s s T
(3) R Tasnaas

75

A
A
A
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§
A
A
A
A
A
A
| 4
A
A
A
A
A
A
4
A
A
A
A
A
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A

g |
: 2) Using your ruler, find the perimeter of each :
4 figure : ‘
N }
‘ by — " Thlnk':j,i‘i;side)?‘ ‘
}
{ - i
‘ ____centimeters ‘
: S “ _ |
. — = i
- - e {
: N
4 i i
& i
% i
4 i
4 4
4 '
£ i
4 i
4 i
4 !
4 ?
4 i
4 ;
4 . :
###44##**#&&4%*444*44“

W |
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Multiplication

__Strategies

MODEL _
VAR A TR

FEeTTTee 5X30=5%x___ tens
S U . L
AR
AN

VI Wy
NURREREERN (RRERRRREY
(RERRERERR R RERRRTRERY
VIR0 Wi gy

S0,5X30=

1) Use the place value to find the product:

llllllllllllllllllllllll

b)4x60=4x...... tens=......... tens =

lllllllllllllll

)2x80=2x,,.... tens = tens =

llllllllllllllllllllllll

d)Sx60=5x...... tens = tens =

llllllllllllllllllllllll

e)Ix40=3x..... | . tens = .tens =

llllllllllllllllllllllll

)Ix70=3x...... tens =......... tens =

ooooooooooooooo

)8 x40=8x...... | 1 LR tens = .uuscsssnvasans

77

A
4
4
4
£
i
A
4
A
A
A
%
A
%
A
2)3 X =5X ,,,... tens = tens = :
A
A
A
&
4
4
4
|
%
4
1
4

SRR EEE RS R RRRRRE
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.444&44g,§

:!*#a¢¢4nmm&

‘ h) 6 x90=6x...... tens = ooevett*” (OIS = seeeeresereeess

: 1) Tx40=17x...... (CNS = cveveet® (ENS = weerererrerere

: D3IXS0=3x...... (ENS = coreert® (NS = covererrroseess

. K)d x40=4x ...... (CNS = svvereer (OIS = covoenrervseser

: )2 x 300 = 2 X .oeee hundreds = weeeeeee hundreds <

#

* ...............

A

f

‘ i
‘ |
: i
! |
* |
: |
: |
: |
* |
‘ |
‘ l
‘ :
* 78 ‘
R R R LR R Y YRR
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4

A

4

A

A

A

A
A
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A
A
&
A
A
A
A
%
§
A
A
%
A
A
4
A
4

&
&
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&
#
4
|
4
%
%
.
|
k
3
A
&
&
&
&
%
3
i
%
3
A
%
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A
A
A
4
&
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A
|
4
A
f
A
A
A
A
A
4
4
A
A
A
4

Di ctions: Solve th'm"'
factor. For example, 40 has the fact

,  Date \\]
10
iples f10!nto10 and the other

Splth e mult

Example:

8x40

{8x4]x10=320_‘—‘__’________”/”_

3x90 — :

( X )x10 = —_:—:’—-—_;E_U_____ :

e -

9 x20 "

l
i = x_#)x‘lo ‘

(___X__) ‘________ﬂ_:______________ ’

8 x50 ’

, 10 = n __)x‘ID :

Ex-; — :

(—_ __)x10= .___)xw ‘
!
|
|
|
‘.
|
3

4&:44&444*::&*44:#1&*

-
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Lesson: I Date ... \..\....
} =
Multiply by 9
L‘-‘__ftrategy

1) Complete :
Ix2= 9x8=
9x3= Ox6=
9x5= Ix4=
9x9=

|
|
|
|
&
5
|
%
|
&
&
b
%
&
&
4
3
4
|
|
3
4
i
&
%
4
%
5
A

PARAA A

Scanned with CamScanner



Liters and

Milliliters _

We use the graduated cylinder 10 measure the liquids:

Choose the better estimate for the capacity of each-

2 ()
—~
3

14 L or 14 mL

3Lor30mL iLor5L

Choose the unit you would use to measuré
the capacity of each. Write mL or L.

4. bathtub 5. @ spoon 6. a container of milk

Choose the better estimate for the capacity of each.

7. @ 8.
=0

100 L or 100 mL

200 mL or 200 L

Choose the unit you would use to measure
the capacity of each. Write mL or L.

10. apail 11 asoupcan  12. 3 drinking glass
13. apond 14. asmallvase 15. a watering can

SR> B> SR> SRS SR SR SR> RS> SR> SR> > SR> SR> SR> SR> SR> SR> > SR> SRS SR > > B > SR> 5> B> > B>

#&##4#&##4#4&&44#44“

|

Scanned with CamScanner



